Each truck is carrying 23

t of coal. What is the m m

combined weight of

coal on all 4 trucks? 23t 23t
231 23t

Cake makers group
make hundreds of cakes
to sell at the markets.
Part of the ingredients
are 67 'half dozen' egg
cartons. How many
eggs did they buy?

74 oranges are cut into
quarters. How many
quarters are there?

A length of pipe is cut

into three 57 cm long 27 em

pieces. What was the [
length of the pipe : '| )
before it was cut? ‘

Each parcel weighs 35
kg. What's the

combined weight of all  [35kg| | [35kg| |(35kg
nine parcels?

- |35kg| | [35kg| ||35kg

35kg| | 135kg| ||35kg

Name:

Multiplying two digit numbers by a one digit number  pate:

6 classes each with 32
students went on an
excursion to the rainfor-
est. How many students
went on the excursion?

Each box contains 84
butter knives. Bree
bought 5 boxes of
butter knives for her
restaurant. How many

BUTTER
KNIVES
knives did she buy? \\\

84 knives in every box

Brain used 65 bricks in
each row to build a wall.

NN
If 'Fhere are 5 rows of N o |
bricks, how manybricks T T T T T T L LI

did Brian use altogeth- L LT T T T T T T
er?

1 S 5 Y O

Ravi purchased five 42 L @
drums of oil for his R
restaurant. How many
liters of oil did he buy?

Dr Davis earns $64 an

hour. How much does
she earn for working 9
hours?

COPYRIGHT STUDYLADDER



